9- which of the following lines
represents the best fit representation
for the points *
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11- If the hight of a cylinder is
measured to be 2.50 cm with
uncertainty of 0.02 cm and the
radius of this cylinder is measured as
0.050 ecm with uncertainty of 0.003
cm. then the uncertainty of the
volume for this cylinder is: *

(O 0.2
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mproperly zerced instrument, this error is:

Q. a personal error

b. both systematic and personal error
c. none of the above

d. a random error

e. a systematic error V

Clear my choice
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Not yet answeared
Marked out of 2.50

[ Flag question

Unpredictable fluctuations in
termperature or other external
factors is considered as:

Ty . Personal error
@ b. Random error W=

O c.Systematic error
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5- one of the students measured the
thickness of a sheet at different
points along one of the sides as
shown in the figure, the the results
were as shown in the table. the mean
value of the sheet's thickness is: *

{mm])

218

1 £ L 1.29

— g 128
() 1.30+0.04
() 1.29+0.04
® 1.2940.01

() 1.30+0.01
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